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Correct Marks: 2 Wrong Marks: 0



Which among the following best describes emotional intelligence as a learner characteristic ?

a) Recognise their own and other people’s emotions

=5

) Expressing their emotions strongly

) Use emotional information to guide thinking and behaviour

r

d) Good observation, scientific thinking and deductive reasoning

(e) Adjusting emotions to adapt to environments
(f)  Being creative and open to diverse viewpoints
Code :

Options:

(a), (d) and (f)

91334539601,

(c), (e) and (f)

91334533602,

(a), (c) and (e)

91334539603,

(b), (d) and (e)

91334539604,
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Correct Marks: 2 Wrong Marks: 0
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91394339601, (ﬂ)’ (d) ﬁr{ (f)
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912334533603,



(b), (d) 3 (e)

9123345339604,
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Correct Marks: 2 Wrong Marks: 0

Which among the following can best be used as an asynchronous teaching aid ?

(a) Skype (b) Blog (c) Facebook post
(d) Online chat (e) Email (f)  Google Hangout
Code :
Options:

(a), (c) and ()

2915334239605,

(), (e) and (f)

91334533606,

(a), (b) and (c)

91334533607,

(b), (c) and (e)

91334523608,
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Options:

91234539605,

9133453396086,

2913394239607,

B91334533608.
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Correct Marks: 2 WrongMarks: 0
The goal of formative assessment is to :
Options:
2 .
01294339609, Promote student to next level

Monitor student learning to provide ongoing feedback
91394339610,

Compare student learning against a standard or benchmark
91394339611,

Form a group of students on the basis of their learning
91394339612,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
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913345336039,
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2915334239610,
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91334539612,
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In a school, in which there are large number of failures, you may like to develop test for

eliminating those who are likely to have substantial difficulties in meeting the academic

goals of teaching. For this you need to develop test which should be able to predict the
individual’s ability or readiness to undertake the study of a school subject successfully. What

is the name of such tests ?
Options:

Prognostic tests
91394339613 4

91394339614 Achievement tests



sisaisssas Aititude tests

Analvtical tests
91394339616, J
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Options:

913345339613,
91334539614,

91334539615,
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EEGENIREE IR |

B912334539616.
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Correct Marks: 2 WrongMarks: 0
In teaching learning context, results of an evaluation are useful to teachers in various ways.
Which among the following is most important use for a teacher ?

Options:
planning instruction and knowing the effectiveness of the teaching strategies used by

91394330617 Lhem.

— getting information about student’s study interests.

" ““ C % " I_‘ .L.' 1 ] 1 L.' . 1 " I..'l
1504350610 (O decide placement of students in other institutions

to identify home influence on students.
91394339620, »
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Correct Marks: 2 Wrong Marks: 0
The characteristics of scientific method of research are :

(a) Empiricism (b)  Objectivity (c) Systematic
(d) Secretive (e) Security related (f)  Predictive
Code :
Options:

(a), (b), (d) and (e)

91394339621
91394339622, (€), (d), (e) and (f)

(d), (e), (f) and (a)

H1334539623.

(a), (b), (c) and (f)

21594239624,
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(a), (b), (d) 3R (e)

91334539621,

(c), (d), (e) 3R (f)

91334553622,

(d), (), (f) 3R (a)

B1334539623.

(a), (b), (c) ¥R ()

2915394239624,
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In a research setting, participants may act differently because they think they are getting
special attention. This reaction of treatment group to the special attention rather than the
treatment itself is called as :

Options:

7 T =
01594339605 Hawthrone effect

ULy Attention deficit

Jung effect
91394339627, ©  ©

Marlov effect
91394339628
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Correct Marks: 2 Wrong Marks: O

s vy ufey |, gfaurt fak 29 SR a7 0iE 9 98 i 9Fd © e 3¢ ovdl 8 o 34 T
fadm = fean o @1 € | HeRR 1 9y fasm W & uid S 99 61 98 9dqid 1 Heed § 2

Options:

B 99d

B91334533625
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Correct Marks: 2 WrongMarks: 0
When a reviewer reviews a research article without knowing the author’s name, it is referred
to as :

Options:

Anonymous review
91394339629, 4

: ) e . _—
01294339630, Behind - the - curtain review

91394330631, DLNd review

Un::ategnrised review
91394339632,
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Correct Marks: 2 WrongMarks: 0
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Correct Marks: 2 Wrong Marks: 0

The kind of numbers which do not represent amounts but instead represent kind (different
qualities, types or categories) are called as :

Options:

YN
91394339633, Nominal

Ordinal

91334523634,

5.
2915394239655, Prime



Absolute
91394339636,
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Options:

HIATHS

91334529633,

9153942396354, ” |

H91334539635. .

2153342396356, ‘!
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Correct Marks: 2 Wrong Marks: 0

Poster sessions in research conferences provide better opportunities for :

Options:
Formal speeches

13043395y, AL Spe

Disp[ew of common interest
91394339638, A

Focus group discussions
91394339639, 3

Inter-personal interactions
91394339640,
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Question Id : 91394310089 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Cuesticon Label | Comprehiension

Read the passage carefully and answer questions 11 to 15 :

Today, in the digital age, who owns information owns the future. In this digital world, we
face a fundamental choice between open and closed. In an open world information is shared by
all freely available to everyone. In a closed world information is exclusively owned and controlled
by a few. Today, we live in a closed world a world of extraordinary and growing concentrations
in power and wealth. A world where innovation is held back and distorted by the dead hand of
monopoly; where essential medicines are affordable only to the rich, where freedom is threatened
by manipulation, exclusion and exploitation; and each click you make, every step you take, they
will be watching you. By contrast, in an open world all of us would be enriched by the freedom to
use, enjoy and build on everything from statistics and research to newspaper stories and books,
from software and films to music and medical formulae. In an open world, we would pay innovators
and creators more and more fairly, using market-driven remuneration rights in place of intellectual
property monopoly rights. As they have improved, digital technologies have taken on ever more
of the tasks that humans used to do, from manufacturing cars to scheduling appointments. And
in the next few decades, artificial intelligence may well be not only driving our cars for us but
drafting legal contracts and performing surgery. On the face of it, we have much to gain if machines
can spare us tedious or routine tasks and perform them with greater accuracy. The danger, though,
is that robots run on information-software, data algorithms and at present the ownership of this
sort of information is unequal. And because it is protected by our closed system of intellectual
property rights.

Sub questions

Question Number : 11 Question Id : 91394310090 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
How will an open world function ?

Options:
Srgsra With limited choices

Information is available to everyone
91394339642 \

91394339643, Information is exclusive
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o, Information is controlled

Question Number : 12 Question Id : 91394310091 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0
Which of these characteristics of a closed world ?
a) Concentration in power and wealth increases.
b) Innovation is controlled.
c)  Only the rich have access to medicines.

(

(

(

(d) Freedom is manipulated.

(e) Information is shared by all.
(

f)  Creativity is recognised.

Options:

(c) and (d)

912334539645, (ﬂ)" (b)"

O (b), (c), (d) and (e)
91394339647 (), (d), (e) and (f)

91394339648, (d), (e), (f) and (a)

Question Number : 13 Question Id : 91394310092 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

What is the status of intellectual property rights in an open world ?
Options:
1594339649 1 NEY are monopoly rights

SR Medical formulae are restricted

Replaced by remuneration rights
91394339651, ’

Protected proprietorial rights
91394339652,

Question Number : 14 Question Id : 91394310093 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

What is the impact of digital technologies on the present day world ?

Options:
.y - 5 - » 5 L % 1I -
1304330653 —reativity is sidelined.

3 L 1C CC Y .I.1 ‘L‘ 1 .
a1504350cs, Mechanical accuracy is distorted

T'edious tasks see an upward trend.
91394339655,

Human tasks are performed by machines.
91394339656 y

Question Number : 15 Question Id : 91394310094 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O

The crux of the passage contains the following statements :

(a) Digital technology is dangerous.

(b)  Those who own information will own the future.

(c) Artificial intelligence will do the human tasks.

(d) Monopoly of digital technology has led to unequal ownership of information.
(

e) Intellectual property rights should be protected in an open world.

Options:

(a), (b) and (c)

91334533657,

(b), (c) and (d)

91334523658,

(c), (d) and (e)

215394239659,

(e) and (a)

91394339660, (d)’

Question Id : 91394310089 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (11to 15)
Juestion Label - Comprehension
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Options:

Hifad fasedi & 919

215394239641,

g1 Tkl YT Erfl

913345239642,

=1 fafere Al & are g

H1334539643.
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913345339644,
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Options:

(a), (b), (c) 3R (d)

91234523645,

(b), (c), (d) 3 (e)

215394239646,

(0), (d), (e) 3T (6)

913345239647,

(d), (e), (f) 3R (a)

913345396458,
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Options:

d TR RIS SAfIHR 21 §

913345239645,

Fafercia 9 ae Hifad Ted 2l ©

91334533650,

uifartes AR grn gfqeerud

91334523651,

OIferd e 3fYaFR

91334553652,
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Options:
91394339653, THATCHe ] 3uferd Brdl 2 |
41394339654, h Gl ﬁ% gl 2

Sifec Sl H =gl ol ¢
91394339655,

O3 AFETT S Huifed & €1
91394339656,
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(a), (b) 3R (c)

B1334539657.

(b), (c) 3R (d)

B91334523658.

(©), (d) 3R (e)

91334533659,

(d), (e) 3R (a)

91334533660,

Sub-Section Number: 3
Sub-Section Id: 913943505
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Correct Marks: 2 Wrong Marks: 0

In verbal communication, words act as :

Options:

91394330661, Tlllers

a1394339662. DECOTAlIVES

Svmbols
91394339663, -

?assive barriers
91394339664,

Question Number : 16 Question Id : 91394310095 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: 0
Hifges Guwo # veg fr=ifera § 9 forde &9 &3 € 2

Options:

T T

91334553661
B133453366%.

Hhdah

91334533663,

_ﬁf&mmﬁw

91334533664

Question Number : 17 Question Id : 91394310096 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 Wrong Marks: O
Modern educational communication is described as :
Options:
Teleologic
01594359665 ['eleologic

Non-distributive
91394239666,

Un-approximate
91394339667,



T'elescopic
91394339668,
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Options:
R
TSI
91394339665,
91394339666, TR-famEoe

YR

91334523667,

WTW'
2153394239665,

Question Number : 18 Question Id : 91394310097 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 2 WrongMarks: 0
Effective classroom communication would help students internalise :

(a) Knowledge (b)  Subject matter

(c) Articulation (d) Language felicity

(e)  Non-responsiveness (f)  Modalities of resistance
Code :

Options:

(c) and (d)

91394339669, (a), (b)’

(d) and (e)

91334539670, (b)’ (L) !

91394339671, (), (d), (e) and (f)

(a), (d), (e) and (f)

B1334533672.
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(a), (b), (c) 3R (d)

H1334539669,

(b), (c), (d) 3T (e)

91334533670,

(0), (d), (e) 3R (f)

913345339671,

(a), (d), (e) 3T (f)

2153394239672,

Question Number : 19 Question Id : 91394310098 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The challenging behaviours of students as related to communication are :

(a) purposive challenges (b) critical challenges

(c) procedural challenges (d) evaluation challenges
(e) practicality challenges (f)  power challenges
Code :

Options:

91394339673, (@) (0)..{6) and {d)

SRR (b), (¢), (d) and (f)

91394339675 (), (d), (e) and (£)

(d), (e), (f) and (a)

B1334539676.
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Options:

(a), (b), (c) 3R (d)

215942396735,

(b), (c), (d) 3T ()

91334533674,

91394339675 (), (d), (e) S ()

(d), (e), () 3R (a)

91334533676,

Question Number : 20 Question Id : 91394310099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Classroom communication has a basis in :
Options:

Audience fraementation
91394339677, o/ %

91394339678, Non-informative cues

10n diversio
31394339673, Attention diversion

SrsnaT Intensive listener focus

Question Number : 20 Question Id : 91394310099 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
eI FIOT T SATER T

Options:

CIGINEREEE!

215334239677,



-G Hohd
91594339678,

B1334533673. IR RERNE

91394339680, Il Ted Haha vl

Question Number : 21 Question Id : 91394310100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
If FACE is coded as HCEG, then the code for HIGH will be :

Options:

215942396851, BEFB

H1334539682. ZXYZ

B1334533653. KHIK

| K1J
91394339684, * -

Question Number : 21 Question Id : 91394310100 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Ife FACE &1 HCEG & &4 H FZasg foan Sra1 2, d HIGH & fog 2 30 2 ?

Options:

21594239681, BLI'B

H1334539652. LXYL

KHIK
91394339683

NY
91334533684, - g

Question Number : 22 Question Id : 91394310101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The next number in the series 12, 15, 21, 33, 57 15

S SR S e

Options:



H1334539655. 93

107
91394339686,

97
91394339687,

H133453968E. 105

Question Number : 22 Question Id : 91394310101 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
12, 15, 21, 33, 57 &l S@ H 3Tl 3{h 21 :
Options:

91334533685,

B1334533656.

97
91394339687,

105
91394339688

Question Number : 23 Question Id : 91394310102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The next term in the letter series DY, | X, OW, SV, VU, 18
Options:

91394339689, YV VY

91334539630, X1

913345339651, XS

913345336392, Yl

Question Number : 23 Question Id : 91394310102 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

aul s DY, JX, OW, SV, VU H 37TeT 92 8 -



Options:

2153342396859, WA

91334539630, Al

91334523631, XS

YT
91394339692

Question Number : 24 Question Id : 91394310103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Which of these words is different from the rest ?

Options:

Tall

H13345396593.

Huge
91394339694,

2153942396595, [hin

Sharp
91394339696,

Question Number : 24 Question Id : 91394310103 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
feu v wi=gi # fawq 9= ¥
Options:

+

SEll
91394339695,

IEEUI]

913345336394,

2153942396595,

eI

21594239656,

Question Number : 25 Question Id : 91394310104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Ram said to Shyam, “That girl playing with the doll, is the younger of the two daughters of
my father’s wife”.

How is the girl playing with the doll is related to Ram ?

Options:
913945339697, Sister

913345336395, Aun t}

Sister-in-law
91394339699,

215394239700, Cousin

Question Number : 25 Question Id : 91394310104 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 3 v e, A e S e § W T, W w5 ueh w5t G e
TFedl % WY Tor aTel dgh! T8 9 Y Hefdd g7

Options:

EEE|

B13345396397.

S Gl

B91334533635.

qrei

2153342396399,

EELER!

91334523700,

Question Number : 26 Question Id : 91394310105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In which of the following instances, deductive argument is invalid ?
Options:
o139433970; TV HEN its premises and conclusion are all false.

) 1 I..‘ - .I.1 I.‘ % } % I.“ 1 C C -
1504359700 YV DEN its premises and conclusion are all true

When its premises are true but conclusion is false.
91394339703,



When its premises are false and conclusion is true.
91394239704,

Question Number : 26 Question Id : 91394310105 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
freafefad § 9 forg 3eeeo o frmoemens qa /a9y 772

Options:

9 THE MR F AR Frepd gt 7o €

91334233701,

9 39 SR 91 AR ek 9aft TE 21

91334533702,

S| 9 YR 91 9l § 9 ekt Terd 2|

2153942397035,

ST 9 YR 91 TTard & qig e 92 € |

91334539704,

Question Number : 27 Question Id : 91394310106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The reasoning which would be helpful in seeking new knowledge of facts about the world
IS :

Options:

Demonstrative
91394339705,

Deductive
913943397086,

Inductive
913943239707,

Speculative
91394339708,

Question Number : 27 Question Id : 91394310106 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fava o Hdg ¥ qedi 1 991 IH U 9 4 AEAfatad § 9 sE-91 96 98heE 2n 2

Options:

91334523705,



91334323706,

HMTHATHh
91394339707

2153942397085, 1

Question Number : 28 Question Id : 91394310107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Given below are two premises with four conclusions drawn from them (taking singly or
together). Which of the following conclusions could be validly drawn from the premises ?
Premises : (i)  All cats are animals.
(i)  Birds are not cats.
Conclusions : (a) Birds are not animals.
(b)  Cats are not Birds.
(c) All animals are cats.
(d) Some animals are cats.
Select the correct answer from the code given below :
Code :
Options:

(a), (b) and (d)

91334533709,

(b) and (d)

2915334239710,

(a) and (c)

91334325711,

(b), (¢) and (d)

91334333971 %2.

Question Number : 28 Question Id : 91394310107 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



I <1 3MYR JreEi o feeTel U fsnul (Tehe 91 weey) 9fgd 9 €1 suR feu ¥ f=fatag §
H FH 9 ford SR 9 @ 99 ®9 9 et T €2

mam AT (i) =i fafeeal Sar €

(ii)  defi fafoerar =& € |
e (a) Tl SR T €
(b) Tafeorar qafi =1 € |
(c) Tl SR fafeemt €1
(d) F IR fafeeat 1
= U T e | Wl I A 94T R
<
Options:
siseazzaros. (@ (D) R (d)
91394339710 (b) R ()
91394339711, (@) 3R ()
(b), (c) 3R (d)
91394339712

Question Number : 29 Question Id : 91394310108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Inductive argument proceeds from :
Options:

Particulars to Particulars
91394339713,

£ TR C S P s g
SO Particulars to Universals

2 - " 3 = .
L. L :" L
01594359715 Universals to Particulars

Universals to Universals
91394339716,

Question Number : 29 Question Id : 91394310108 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ATTHATHF Tk 1 AR SE 211 € ¢



Options:

 fordre & o

21394239713

| 99 9 =19

913345259714

215394239715, IRE @ [ lll [

91334533716, M ﬁ A

Question Number : 30 Question Id : 91394310109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Among the following statements, two are contradictory to each other.

Statements :

(a) All men are humans.

(b) Some men are humans.

() Some men are not humans.
(d) No men are humans.

Select the code that represents them :
Code :

Options:

(a) and (b)

91334533717,

and (d)

H91334539715. (El)

(a) and (c)

91334539719,

(b) and (¢)

91334523720,

Question Number : 30 Question Id : 91394310109 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



frfafEd &1 9 T g8 & fausHt €1
chdH :

(a) 94 ¥Y A T |

(b) FS TEW WA €|

() FS I%Y HFE T ¢ |

(d) TS JEY HFE T ¢ |

39 T 1 =TI HL S SR Hidrreed HLdl §
che

Options:

(a) 3R (b)

91334323717,

(a) 3R (d)

B1334539718.

(a) 3TR ()

91334323719,

(b) &R (0)

291334239720,

Sub-Section Number: 4
Sub-Section 1d: 913943506
Question Shuffling Allowed : Yes

Question Id : 91394310110 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31 to 35)
Cuesticon Label | Comprehension



Subject Total Number of | Number of | Maximuny
number of | students students | Full marks
students |who passed| who failed in the
appeared subject
English 600 - 36 600
Mathematics - 240 60 -
Science 300 216 - 400
Social Studies 360 - 48 400
Computer - 168 32 400

Study the table given above carefully. It shows the number of students appeared, passed
and failed in five subjects. The full marks in each subject is also given.

Some of the cells have missing data. You might need to determine some of the missing data
to answer the questions below.

Sub questions

Question Number : 31 Question Id : 91394310111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which of the following could be the full marks in Mathematics if the pass marks in Mathematics
was 35% and the person who just passed scored 70 ?

Options:

400

21594239721,

91334539722, 500

91334533723, 600

i,
91334339724, 200

Question Number : 32 Question Id : 91394310112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What is the maximum marks that a student can score in all the five subjects together ?
(You may use the answer of the previous question.)

Options:

91394339725, > OV

91394339726, LUUU
1500

91334533727,



2000

21334239728,

Question Number : 33 Question Id : 91394310113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the difference between the number of failed students in Science and the number of
passed in Social Studies ?

Options:

28
91394339729,

J
&%
oo

91334523730,

r-.l.]
e
J

91334329731,

2
9IB94339735° =5 18

Question Number : 34 Question Id : 91394310114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What is the approximate difference in percentage between the pass % in Social Studies and
the pass % in Mathematics ?

Options:

2.5%

91334539733,

6.5%
91394339734

16.5%
91394339735,

26.5%
91394339736, 26.2%

Question Number : 35 Question Id : 91394310115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In which subject, was the failure percent the least ?

Options:

English
91394339737, >

Mathematics
91394339738,



Science
91394339739

Social Studies
91394339740,

Question Id : 91394310110 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (31to 35)
Juestion Label - Comprehension

fawa | ol SHETel | 3Tl EFdTel | Al oEl | faua o
el HeEAT A
AU 600 : 36 600
T ] 240 60 _
[EEIR] 300 216 ] 400
TS AT 360 = 48 400
H : 168 32 400

ST Ifciehl o1 SAMYES Ui | THE qr9 foudi i wie Same, S8 S iR ST arare
faenfei=i =1 gwitan T ¥ 1 v fau ¥ e of off faw e #)

FS HISH! H S Tal ¢ | A9 U T gwHi F IW T F HH A AR SIS AFS| FT ATHR
FHEAT IS Hhal ¢

Sub questions

Question Number : 31 Question Id : 91394310111 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fe 7o =1 SevIieh 35% o1 3R UH SAfad =l i M0 H hiad 3401 gU UTdish 70 &1 o 107 61
qUTish ST 917

Options:

91334539721,

B1334339722.
91334533723,

B91334539724.



Question Number : 32 Question Id : 91394310112 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qoff g fawdi § faeneff sifeeran fohaq 37 Wi o Hehd €2 (379 U=l W99 o 39 1 390 &
TEd 1)
Options:

291334239725, 200

91334533726, 1000

1500
91394339727,

9133453339728, 2000

Question Number : 33 Question Id : 91394310113 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

foam o ST 3R TaTST 315ma B 390 erarel faenfaai # foran i &2

Options:

228

215394239729,

91334539730,

9133432397321,

-
9189433973 == 18

Question Number : 34 Question Id : 91394310114 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TS 31899 3R forg § Sfrofar wfaera & e feray wfderd &1 sfae &2

Options:
2.5%
91394339733, <. /o
2%
91394239734,
9%

91334533735,



26.5%
91394339736,

Question Number : 35 Question Id : 91394310115 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fopy faog d 701 219 o1 Giaerd ey &Y 91?2

Options:

EPE]

B1334539737.

T

9153342397358,

[EEIE!

91334523735,

O 3ASEH
291394239740, S

Sub-Section Number: 5
Sub-Section Id: 913943507
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394310116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Full form of PDF is:
Options:
) 5 - t
. =l i -
01294339741 Portable Document Format

2 B P o ; )
) ) Jakz 3
91594339745 Portable Data Format

Portable Document Form
91394339743,

Portable Data Form
91394239744,

Question Number : 36 Question Id : 91394310116 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

ST 1 YU &Y T :

Options:



_ti‘réﬁrﬁ‘e”ﬁ?{ﬁ?" 2 HHe

21394229741

e el il

91334523742

. T ‘ ‘[Fﬁ

91334539743

[

Uledc] <21 g

91334559744,

Question Number : 37 Question Id : 91394310117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
A Terabyte is equal to :

Options:

1004 Meoahviec
o1504330745, 1024 Megabytes

91394339746 1024 Gigabytes

91394339747, 1024 x 1024 Kilobytes

1024 Kilobytes
91394339748, -

Question Number : 37 Question Id : 91394310117 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

U @RS fFEE S 72
Options:
1024 HTETEZH

91334523745

1024 TETEEH

913345323746

102 )24 [:GEE#IEIIQEH
91394339747, 028 = 104 i
1024 feraramgey

2913394239748

Question Number : 38 Question Id : 91394310118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
The binary equivalent of (—23)10 is (2's complement system for negative numbers is used) :
Options:

91334539748, 10111

91334523750, 01001

91334523751, 01010

913345333752, 01000

Question Number : 38 Question Id : 91394310118 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
(— 23),, 1 I8 FUqeA (T sfaeecie) ¢ (2's Fitie Fomel 1 Jan ke s & fau
P ®) :

Options:

10111
91394339749

01001
91394339750,

01010
91394339751

01000
91394339752

Question Number : 39 Question Id : 91394310119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

DNS stands for :

Options:
01394339753 Domain Name Standard

Jomai : Sy
139433975, LDOMAaIN Name System

Distributed Name Svstem
91394339755, :

) i > =i af B8 e
150435970 Dynamic Name Standard



Question Number : 39 Question Id : 91394310119 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

LT, & Y ©
Options:

91394339753, ST Iq ¥ee

2 3w e

21394239754

91394339755, ﬁ"’@ﬁﬁ_g a9 fgwm
T T EeE

91334533756

Question Number : 40 Question Id : 91394310120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the given statements are true ?

(a) Modem is a Networking device.

(b) Modem is a Voltage stabilizer.

(c) Modem converts analogue signal to digital signal and vice-versa.
Code :

Options:

(a) and (b)

2915334239757,

(b) and (c)

91334539758,

(a) and (c)

91334523759,

(a), (b) and (c)

291334239760,

Question Number : 40 Question Id : 91394310120 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



feifera & 9 ®H-9 Fu9 W8 €2
(a) HTSH ek A2afehtl Jfer gl

(b) TISH TF dees LfaeEsn ¢
(c) HISH T Hohd 1 fefSea Haa § iR fefSea H&d &l @ dod d =g ¢ |

Options:

(a) 3R (b)

91324539757,

(b) 3R (¢)

21594239758,

(a) 3R ()

B1334539759.

(a), (b) 3T (c)

91334539760,

Question Number : 41 Question Id : 91394310121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which among the following industries, consumes maximum water in India ?
Options:
s1304339761, CISINEEIING

91334539762, lextiles

Thermal power plants
91394339763.

Paper and pul
91394339764, P PR

Question Number : 41 Question Id : 91394310121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ard § faefafaa § 9 fovg 38m § 9o &1 3ifuesdy @ud 2l €2

Options:

EEUERIE

91334533761,



95

215334239762,

GILAEEGRSEE
91394339763,

FTTS AR Tl

91334539764,

Question Number : 42 Question Id : 91394310122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Plants suitable for biomonitoring of Sulphur Dioxide pollution are :
Options:

White pine, moss and lichens
91394339765,

Sy l'omato and lettuce

R ['obacco, grapes and garden bean

Apricot, peach and gladiolus
91394339768,

Question Number : 42 Question Id : 91394310122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TeH SRAFAEE YUV &l Sia- TRl & e 3ugad 1Ry € -

Options:

| vod GagR, & 3R IaETF

91334533765

= [a
91394339766, N 3R THeR Hesl

T, SR SR &1 WY

91334533767,

Tfepie (3TERe), 31g 3R Tafesled

91334533768,

Question Number : 43 Question Id : 91394310123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
An earthquake is rated as ‘major’ if its magnitude in Richter Scale is in the range of :

Options:



91394339769
91394339770 2.0 - 9.9
s1394339771 OV~ 6.9
a1394339772. /-0 =79

Question Number : 43 Question Id : 91394310123 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
I &1 TS’ YT T I el & SN € Afe et T W eHeE guE T a3 § 2 ©
Options:

4.0 9 4.9

2153394239769,

91334523770, 2.0 ﬁ 2.9

6.0 9 6.9
Q1294229771

70" 7.9
Q129423977 2.

Question Number : 44 Question Id : 91394310124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The biggest hindrance in using biomass as a major energy source is :
Options:
o1594339705 L echnology not well developed for commercialisation.

Energy yield of low level.
91394339774, S

Laree amount of land required to erow enerevy crops.
)
491394339775, o o /

ir po 10 y combuston.
e Air Et.ﬂutu n due to combustion

Question Number : 44 Question Id : 91394310124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AR %1 U TG Fsl 9id o 9§ JI0 F § oIy 927 o191 ¢

Options:

 SfUrETeRT % fere drEifieRt geehtd TE 7

21394239773

A TR Sl 3 Bl 2|

91334523774

Hel-TEd I o fou agd Ao Y 1 Aeaedehd 9edil ¢ |
915924339775 :

T % THIOT 1Y JEUU &l ¢ |

91384539776

Question Number : 45 Question Id : 91394310125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Assertion (A) : Climate change is going to increase social tension in India.

Reason (R) : The frequency and intensity of the extreme weather events will have serious
consequences for food security.
Code :
Options:
) correc D 10N o :
150435077, DO (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true and (R) is not the correct explanation of (A).
91394339778,
Sisanaseras (A) s true, but (R) is false.
(A) is false, but (R) is true.
91394339780,
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B912334539851.

(1), (iv)
H1334539882.

(1i), (iv)
91334523853,

(11), (1i1)
91334523854,

Question Number : 71 Question Id : 91394310151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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e AR e -

(i) 15 IR

i) BA it

(iii) 51T T, FE7 BIFT

(iv) FRST #IT A

Options:

(1), (1ii)
913345235851,

(1), (iv)
913345238852,

(ii), (iv)
B13345539883.

(ii), (iii)
215942395854,



Question Number : 72 Question Id : 91394310152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

weTe il 2ifq @Pete il IRGT Resd <191 w5 Rems o7yg a1 Yo A Sfensa |
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(i) #1A &AT

(i) *J&eT

(iii) SIS SE

(iv) A HIF &

Options:

(1), (iii)
215394239885,

(11), (111)
91334523856,

(idi), (iv)
B1334539857.

(1), (ii)
H1334539885.

Question Number : 72 Question Id : 91394310152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oo iRl 2i @t il IR0 Revsd #1191 % Revma sgg a1 Yefeh Ay Sfensat |
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(i) 1A A

(i) &=

(i) SIHITF S SE

(iv) PEH! SIF B

Options:

(1), (1ii)
91334533855,

(ii), (iii)
91334533856,

(1ii), (iv)
H1334539887.



(1), (i1)
91334533858,

Question Number : 73 Question Id : 91394310153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(i) #lftesin

(ii) IY9 54 g7

(i) SAFZFN

(iv) SIS 915

Options:

(1), (iv)
H1334539889.

(1), (i1)
913343235830,

(1i1), (iv)
91334533891,

(ii), (iv)
B13345398392.

Question Number : 73 Question Id : 91394310153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) #ffoom

(ii) I¥9 5 g

(iii) BATFZFH

(iv) SIS 4 w16

Options:

(1), (iv)
91334523859,

(1), (i1)
213345339830,



(iii), (iv)
913345335891,

(1), (iv)
91334533892,

Question Number : 74 Question Id : 91394310154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(i) T

(i) R

(iv) T2

Options:

(1), (ii)
215942398935,

(1), (1), (1ii)
913345235394,

(1), (1), (iv)
913345338595,

(1ii), (iv)
H13345338396.

Question Number : 74 Question Id : 91394310154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(i) f9w =

(i) R

i) R

(iv) %

Options:

(1), (i1)
913345235833,



(1), (i), (1ii)
913345335394,

(1), (1), (iv)
913345338595,

(1ii), (iv)
H13345338396.

Question Number : 75 Question Id : 91394310155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oo il 2hq et il IR0 Revsd <191 % Revma s a1 Yeieo Ay Sfenasal |
Wl IFE 9T IS FRGF Yo -

(1) S 2

(ii) &Y

(i) g

(iv) T 7sf

Options:

(1), (i1)
B91334533837.

(1), (1)
91334523895,

(ii), (iii)
913345339899,

(iii), (iv)
215394239900,

Question Number : 75 Question Id : 91394310155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) ST T

(ii) JTSEY

(i) Rzl

(iv) T 7sf

Options:



(1), (i1)
913345338397,

(1), (1)
91334523895,

(i), (iii)
913345339899,

(iii), (iv)
2915334239300,

Question Number : 76 Question Id : 91394310156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o6 il 2 et il IR0 Resd <191 w% Reems sz a1 Y=o A Gfensat |
©Fq (@I 01 AW AP (oI [FE SpimR @7 waEm 2

(i) HHF FI6N (ST

(i) SJFH 78

(i) SR +G5RT Pefel

(iv) PILT JF4l

Options:

(1), (11)
91334523901,

(1), (iv)
91334539902,

(ii), (iv)
2153942399035,

(ii1), (iv)
913345233904,

Question Number : 76 Question Id : 91394310156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) T FTE (IR

(ii) &I 18

(i) SR +G5T Pefel

(iv) 1L JP4l

Options:

(1), (11)
913345233901,

(1), (iv)
B12334539902.

(ii), (iv)
2153942399035,

(iii), (iv)
91334323304,

Question Number : 77 Question Id : 91394310157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) 2SI

(i) S

(iii) GTErY

(iv) TFSMISH

Options:

(1), (iii)
H1334539805.

(1), (iv)
91334523306,

(1), (iv)
91334523307,

(ii), (ii1)
B1334539908.



Question Number : 77 Question Id : 91394310157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

weTe il 2ifq @Pete il IRGT Resd <191 w5 Rems o7yg a1 Yo A Sfensa |
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(i) 2SI

(i) S

(i) BTErd

(iv) SAPETISH

Options:

(1), (1ii)
91334523305,

(1), (iv)
913345333906,

(i), (iv)
B1334539907.

(1i), (1i1)
91334323308,

Question Number : 78 Question Id : 91394310158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) forfage =nff

(i) NTEARPE TR

(i) BTATAY SR

(iv) T3H6T J41

Options:

(1), (iii)
913345233909,

(ii), (iii)
B1334539910.

(1), (i), (iw)
2915334239911,



(1), (1), (iv)
9133433991 %.

Question Number : 78 Question Id : 91394310158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(i) forfage =i

(i) ICETIREH oM

(i) STHHAIY (ST

(iv) T3H6T J41

Options:

(1), (iii)
2912334539903,

(ii), (iii)
215394239910,

(1), (i), (iv)
913345329911,

(1), (1), (iv)
91334539912,

Question Number : 79 Question Id : 91394310159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) 141+

(i) "

(i) STRIf e

(iv) ST

Options:

(1), (iii), (iw)
H1334539913.

(1), (iv), (iii)
91334529914,



(1), (i), (1ii)
91334539915,

(1), (11}, (iv)
91334539916,

Question Number : 79 Question Id : 91394310159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) 141+

(i) "

(i) STRIf e

(iv) ST

Options:

(1), (iii), (iw)
215942399135,

(1), (iv), (iii)
91334529914,

(1), (11}, (1ii)
91334533915,

(1), (i), (iv)
91334539916,

Question Number : 80 Question Id : 91394310160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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() SPTRIT G S e

(i) 5O1E “f9e 57 2w

(i) BT SR S SiFer

(iv) SRR $7iffs ey

Options:

(1), (i1)
913343293917,



(1i), (1i1)
913343399158,

(1), (iv)
913345339919,

(1ii), (iv)
91334539920,

Question Number : 80 Question Id : 91394310160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) SRR ST Sl s

(i) 5O1E “f9e 57 2w

(i) BT SR S SiFer

(iv) SRR $7iffs ey

Options:

(1), (i1)
913343293917,

(11), (1i1)
91334539915,

(i), (iv)
913345399149,

(iii), (iv)
215394239920,

Question Number : 81 Question Id : 91394310161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(i) Neg|

(i) e

(i) IR

(iv) S

Options:



(1), (i), (1ii)
91334339921,

(1), (11)
91334539922,

(1ii), (iv)
B91334539923.

(ii), (iii), (iv)
Q1394239924

Question Number : 81 Question Id : 91394310161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
o6 il 2 et il IR0 Resd <191 w% Reems sz a1 Y=o A Gfensat |
ATBICTA TR TS =9 YT *d Yo T -
(i) AP
(ii) SIS
(iid) RJBZ
(iv) SIRF

Options:

(1), (11}, (1ii)
91334539921,

(i), (i)
Q1294339922

(i), (iv)
Q1294239923

(11, (i), (iv)
Q1594239924

Question Number : 82 Question Id : 91394310162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) SPIeTCHI=T

(ii) GFAE

(i) BT P&

(iv) PHY 299

Options:

(1), (ii)
B12334539925.

(1), (iv)
H1334539926.

(1i), (1i1)
B1334539927.

(1), (1)
91334539928,

Question Number : 82 Question Id : 91394310162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(i) PITCATET

(i) BFA!

(i) 51 P&

(iv) THY 29

Options:

(1), (i1)
91334529925,

(1), (iv)
91334533926,

(ii), (ii1)
B1334539927.

(1), (iii)
215394239925,



Question Number : 83 Question Id : 91394310163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) R s

(i) Q7T 16

(iii) SIHEF

(iv) =PI I

Options:

(1), (ii)
21594239929,

(1), (iv)
91334523920,

(ii), (ii1)
912334539921,

(i), (1ii)
H13345395932.

Question Number : 83 Question Id : 91394310163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(i) e S1e

(i) Q7T A6

(iii) SIHEPFA

(iv) =PI I

Options:
(1), (i)
913943399239,

(ii), (iv)
91334523920,

(ii), (iii)
H913345395921.



(1), (1ii)
91334539932,

Question Number : 84 Question Id : 91394310164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

ee il 2iq =Pt il SIRGT R <191 % Reema s1gg a1 Je100 A Gfenea |
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(i) TYET- =TT

(i) fr-re

(i) SIEE- 1S

(iv) -1

Options:

(1), (ii)
B13345395923.

(ii), (iii)
215942399354,

(1), (1), (1ii)
91334523935,

(1), (1), (iv)
91334533936,

Question Number : 84 Question Id : 91394310164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(i) T
(i) F9T-a16
(iii) S-S
(iv) 31T
Options:
(1), (ii)
91394339933,
(i), (iii)

91334529924,



(1), (i), (1ii)
91334539935,

(1), (1), (iv)
91334533936,

Question Number : 85 Question Id : 91394310165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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©e (I 701 ARGH S OTe ST 2
(i) #AS S
(ii) SIfPet
(idi) FRSFET
(iv) STFE
Options:
(i), (ii)
91394339937,
(i), (iii)
91394339938,
(id), (iii)
91394339939,
(ii), (iv)
91394339940.

Question Number : 85 Question Id : 91394310165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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©oq (@19 01 ANGH SErE O S 2

(i) 7AE[SH

(i) SIPeT

(i) TRERT

(iv) SIFPIl

Options:

(1), (i1)
B1334539937.



(1), (1i1)

91394339938,
(11}, (1ii)
91394239939,
(i), (iw)
21394239940,
Sub-Section Number : 3
Sub-Section I1d: 913943510
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 91394310166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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*R1 & Ceio! A Sfenad |

Bt : 2Pfod SFEITE SRS @HR (@ SPRRT AR S ©RE #[18 S
I (% |

I : 2feq (e SEIRIeR FevapfE sl Miqad Wie [ita ©-sefied o
ftz |

Options:

tfe uT; e va

913345539941,

tfe u%; e Tum

91334529942,

e oreg; I sam

91334529943,

tfe sras; I um

91334529944,

Question Number : 86 Question Id : 91394310166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Of : ofioq SA9IG SIIEe @EE (@9 SRR J9E S5 Gk 4918 SiEtif
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I : oPfeq e SIS FeoE SR Mg ¥e [ita oF-sefes o
ficz |

Options:

tfe uT; e vz

913945395941,

tfe w5 e sam

B1334539942.

tfe oes; Ife saF

91334529943,

Cfe wrwg; Ife 9%

91334529944,

Question Number : 87 Question Id : 91394310167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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41 % eIl A Gfensd |

Ofs : ‘g viemd I W (STY9 S3=1 @I R[S Foms Sl sfRfie oryg &
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& : 4 e PR ®AT T S e I I |
Options:

tfe v e 9%

21594239945,

Cfe ©%; e sam

91334539946,

tfe sas; s ua

2912334539947,

e oreg; I sam

91334529948,

Question Number : 87 Question Id : 91394310167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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TR |

IS : A4 e IR /AT T Sed I AE |
Options:

tfe uF; e va

91334529945,

tfe ue; e Tum

91334523946,

Cfe oo, e vF

91334529947,

e oo Ife oam

2915334239945,

Question Number : 88 Question Id : 91394310168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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41 ©% Ceqh A% Gfensd |
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e : 2e Cofom BAraf; Soe (SpRIeirs; STy 4 GOSN 34+ 399 Gom
6T 7T |

Options:

tfe v IfF ©F

91334539945,

e oo, e va

91334523950,

Cfe wrew; Ifie sraw

91334523951,

Cfe o Ife sTaT

91334533952,



Question Number : 88 Question Id : 91394310168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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41 W% GeqH A Gfensd |
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Options:

tfe ug; Ife ©T

91334529945,

Cfe oo, e vF

91334323350,

e oo Ife oam

21594239951,

Cfe ©%; e sam

91334539952,

Question Number : 89 Question Id : 91394310169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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qfbee, |

Options:

e oo Ife oam

2153942399535,

tfe uT; e va

91334539954,

e sag; s ua

91334533955,



Gfe oo Ife oaw

91334539956,

Question Number : 89 Question Id : 91394310169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

& oo, Ife Tam

H13345395953.

tfe uT; e va

91334539954,

e sag; s ua

91334533955,

e oreg; I sam

91334523956,

Question Number : 90 Question Id : 91394310170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(i) A1 CIGER

(ii) WP TRA G FZH1 T

(i) ZZO!

(iv) B8] (B 5[

Options:

(iw), (i1), (i), (1)
91334540025,

(1), (iv), (iii), (i)
B1334540026.



(1), (11), (1ii), (iv)
91334540027,

(i), (1), (ii), (iv)
912334540025,

Question Number : 107 Question 1d : 91394310187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e il efq MO SRS ST Y +[1 @ @N! e <1 |
RSP I oIS HPAPLI 2T 5 TP S -
(i) P19 (TR

(ii) BT TR Q@ F241 TA

(i) ZZO!

(iv) ©8] (BRI 57

Options:

(iv), (ii), (i), (1)
91334540025,

(1), (iv), (iii), (1)
91334540026,

(1), (i), (1ii), (iv)
213345340027,

(iii), (1), (ii), (iv)
91334340028,

Question Number : 108 Question Id : 91394310188 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

el fral 29 MOt S S (5109 41 ©% @H [ 347 |
A 2P 59 fefies i sl -

(i) SNfEe] GoAmni

(i) SRR PR SF P!

(i) SFIM SYITOG HIF AT
(iv) SRS T

Options:

D), (i), (i), (iv)
91334540023, @, @), (i), tiv



iv), (i), (i), ()
91334240020, (iv), (1), &), G

iv), (i), (i), (i)
912334540031, (i), (1, (i), G

D, (i), (iv), (iii)
91234540032, @, @), ), (i

Question Number : 108 Question Id : 91394310188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

©o® Wl o AT S4ES oz tile *[1 @5 @ ey 47 |
2R SR 579 fefes Qe TSl -

(i) fEe] GoAEHT

(i) ST R S PRl

(iii) SFFAM SAITSG ST A
(iv) EETE T&1™

Options:

B, (i), (i), (iv)
913345340023, (0, i), G, (v

iv), (i), (i), ()
912334540030, {iv), (1), €&), 6

iv), (i), (i), (ii)
91234540021, {iw), (@), (i, (8

D, (i), (iv), (i)
215394240032, (@), (i), €iv), (i

Question Number : 109 Question Id : 91394310189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

oo Ul opq T SNES STens (oG9 *[1 &% FHe ey 47 |
(SIPER fofes SeE -

(i) fre co

(ii) CRIGH JqCeTElfae

(i) HIWF TSN (ot

(iv) ST e

Options:



(i), (1), (1ii), (iv)
91334540033,

(i), (1v), (1), (1)
91334540034,

(1w}, (iid), (1), (1)
91234540035,

(1), (i), (iii), (iv)
91334340036,

Question Number : 109 Question Id : 91394310189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oo Ul opq T SNES STens (oG9 *[1 &% FHe ey 47 |
(SIPER fofes SeE -

(i) fre co

(ii) CRIGH JqCeTElfae

(i) HIWF TSN (ot

(iv) ST e

Options:

(i), (1), (1ii), (iv)
2912334540033,

(iii), (iv), (i), (i)
913343400354,

(i), (111), (i), (1)
91334540035,

(1), (1), (1ii), (iv)
291234540036,

Question Number : 110 Question Id : 91394310190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



©AG il ofq Tt SHES STSTE (5169 *[1 @ PH0! e 47 |
FIATF HFSIC STl -

(i) PeTE eoeal fafA

(i) PIA1Z N1 Frefifaf

(iii) GHTET A3

(iv) YT e e

Options:

(1ii), (iv), (1), (i)
291234540037,

(1), (i), (iii), (iv)
B91334540035.

(i), (111), (i), (1)
91334340039,

(iw), (1), (ii), (111)
912334540040,

Question Number : 110 Question 1d : 91394310190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

©eTe ol o AT SEe TeTE I6e #[1 % @Ho! Hefr 47 |
PAFFHPEIS ST ~

(i) P ooea At

(i) IR N1 PRt

(iii) GHI5ET A

(iv) 891 e e

Options:

(i), (iv), (1), (i)
913345340037,

(1), (11}, (1), (1v)
91334540035,

(i), (1), (i), (i)
2912334540033,

(i), (1), (ii), (iii)
91334340040,



Question Number : 111 Question Id : 91394310191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

weTe il e FOHAI SIERTS STeTE, T5169 #1[1 @ @ueo! e 47 |
2N PR 5 SN TSR —

() R JIEN

(i) TRGY1R, S S

(i) FHENREFTE

(iv) 731 Spw @Gl

Options:

(iv), (ii), (1), (ii1)
91334540041,

(i), (1), (ii), (i)
91334540042,

(1), (i), (iv), (1ii)
B91334540043.

(1), (iv), (iii), (i)
91334540044,

Question Number : 111 Question Id : 91394310191 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e Tl o AT SMES STeng toIGe *[1 &% N ey 47 |
2N AP B S ST -

(i) PR JIEN

(i) T wpi R

(iii) JHENRIEPIR

(iv) 53T =PI Rl

Options:

(1w}, (i1), (i), (1ii)
91334540041,

(i), (1), (ii), (iii)
91334534004%Z,

(1), (11}, (1v), (1)
91334540043,



(1), (iv), (iii), (i)
91334540044,

Question Number : 112 Question Id : 91394310192 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e il o TR SRS SR GG [T &% @9l [of 7 |
2P AN B S ST -

(i) FEYF IF99 “orEAm Y

(i) S@eToY ISP Twerer

(i) THAPIB FFncerd e Sy’

(iv) SIS IFAT IR

Options:

(idi), (id), (1), (iv)
2912334540045,

(iw), (iii), (ii), (i)
913343400485,

(1), (11), (1ii), (iv)
913345340047,

(iw), (1), (ii), (111)
912334540045,

Question Number : 112 Question 1d : 91394310192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e Ul oq AT SAee STeng toIiGe +[1 &% o e 47 |
ST 2N 54 SPIE SCSIET —

(i) FHYF I$99 ‘M

(ii) SGeT6H ISP T

(i) IATIIE FECeT ‘AR Oy

(iv) SIS IF91T I

Options:

(1), (ii), (i), (iv)
91334540045,

(i), (111), (i), (1)
913345400485,



(1), (11), (1ii), (iv)
91334540047,

(iw), (1), (ii), (111)
912334540045,

Question Number : 113 Question 1d : 91394310193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e il efq MO SRS ST Y +[1 @ @N! e <1 |
PRSI TSI

(i) B AIfEey

(i) As1E Ay

(iii) I S\ AR

(iv) AIFGS ey

Options:

(1), (i), (iii), (iv)
91334340043,

(i), (1), (1ii), (iv)
91334340050,

(iw), (1), (iii), (1)
91334540051,

(1), (ii), (iv), (1)
91234540052,

Question Number : 113 Question Id : 91394310193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wefe il o O SES TSR IGe [T &% @H! Fef 47 |
PIAFRPOIC SR -

(i) 5f¥© AfEey

(i) o1t fkey

(i) R ST AT

(iv) TGS ey

Options:

(1), (11), (1ii), (iv)
913345340043,



(i), (1), (1ii), (iv)
91334240050,

(iw), (1), (iii), (1)
91334540051,

(1), (ii), (iv), (1)
91234540052,

Question Number : 114 Question Id : 91394310194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

oG il ofq AT SIES S8, (569 #[1 @ 0! el 47 |
STV SYHG Gofd ACIPETFAD SOSTET —

(1) TP 51 Gl

(i) BHY FP1

(i) ToT49 TSR

(iv) TSI SIsiFT=

Options:

(i), (111), (i), (1)
91334540053,

(1), (11}, (1), (1v)
91334540054,

(1), (1), (i), (iv)
912334540055,

(iw), (i1), (iii), (i)
91334540056,

Question Number : 114 Question Id : 91394310194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et il 19 HOtETE SHEs FSiE (5169 #[1 ©F @R 5o 347
(SIOGI SHHG ©ofd FCPETEAD SOSTIRT —

() TP 51 Gl

(i) BUY] TPl

(i) TeT49 SIS

(iv) TSTIfo2m SIsigqre

Options:



(i), (11i), (i), (1)
91334540053,

(1), (11}, (1), (1v)
91334540054,

(1), (1), (i), (iv)
912334540055,

(i), (i1), (iii), (i)
913345340056,

Question Number : 115 Question Id : 91394310195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

et il 19 HOtETE SHEs FSiE (5169 #[1 ©F @R 5o 347
Afo®] Plef SIS FOSTET -

(i) SP AR Sl

(i) B TJ@ et

(iif) 9.95. 9. FIT

(iv) AT R sTe!

Options:

(1), (11}, (1), (1v)
91334540057,

(1w}, (iid), (1), (1)
91234540055,

(1), (1), (1ii), (iv)
91334340053,

(i), (iv), (ii), (1)
91334540080,

Question Number : 115 Question 1d : 91394310195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



©eTs ] o FUHEE SYA© TS1E GIGT [l % TR [ 47 |
B FIT SIS TSI -

(i) P AlfEe) el

(i) SP 1 el

(iii) 9. 95.97. FIF

(iv) TfEAT SR el

Options:

(1), (11), (i), (1v)
91334540057,

(iv), (1), (i), (i)
291234540058,

(1), (1), (1ii), (iv)
91334340053,

(i), (iv), (i), (1)
913345340080,

Question Number : 116 Question Id : 91394310196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e il o O SIS SR GIGe [T &% @N! o 47 |
STEIY SRS TSR -

(i) T B

(i) FIfGATS 7 wZq

(i) fea TG rirs

(iv) FG (@TSES

Options:

(1), (1), (i), (iv)
H91334540061.

(i), (iv), (i), (1)
913345340068%.

(1), (11}, (1), (1v)
91334540063,

(iv), (ii), (1), (ii1)
291334540064,



Question Number : 116 Question Id : 91394310196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

weTe Rl o FMTEET SNYee SoE 66T +191 @5 9 ey 467 |

(SIPGER SHHS ST -
(i) TT B
(i) FIGATS 77 2ZE
(i) fea G oo
(iv) G (SEs
Options:
(i), (iid), (1), (iv)
91394340061,
(i), (iv), (i), ()
91394340062
(1), (i), (iid), (iv)
91394340063,
(iv), (ib), (1), (iiD)
91394340064,

Question Number : 117 Question Id : 91394310197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e il o O SIS SR GIGe [T &% @N! o 47 |
SRR fefes e -

() Risfegue e

(ii) T6E 41

(i) ATPIS FIPfS

(iv) TR SH1e

Options:
(i), (iv), (i), (iii)

912334540065,

(1), (i), (iii), (iv)
H13345400686,

(ii), (iv), (iii), (i)
913345340067,



(iii), (ii), (1), (iv)
91334540065,

Question Number : 117 Question Id : 91394310197 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e il o TR SRS SR GG [T &% @9l [of 7 |
SUPer fefge s’ -

() Risfegue o1

(i) T6E 41

(iii) AT TIPS

(iv) TR SH1e

Options:

(id), (iw), (1), (iii)
291234540065,

(1), (i), (iii), (iv)
91334540088,

(id), (iw), (iii), (1)
9133453400687,

(1a1), (i), (1), (iv)
912345400658,

Question Number : 118 Question 1d : 91394310198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e il efq MO SRS ST Y +[1 @ @N! e <1 |
IS SR GFMP0T ST -

(i) 7T ez

(i) P17 Frex

(i) STIK Frex

(iv) FTOIZ

Options:

(1), (iw), (ii), (1ii)
B1334540063,

(i), (iv), (i), (1)
91334340070,



(iw), (ii), (1), (ii1)
91334240071,

(i), (1), (ii), (iv)
91334540072,

Question Number : 118 Question 1d : 91394310198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

wote il 29 fATHHIT SYee o1 6 #191 @ A fefa 41 |
“ITRIST SR QI ST ~

(i) 7¥e e
(ii) g Breg
(iii) w1 PBrex

(iv) PEE,
Options:

(1), (iv), (ii), (iii)
91334340069,

(i), (iv), (i), (1)
91334340070,

(iv), (i), (1), (ii1)
912334540071,

(1), (i), (ii), (iv)
291234540072,

Question Number : 119 Question Id : 91394310199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wefe il o O SES TSR IGe [T &% @H! Fef 47 |
PIAFRPOIC SR -

(i) 5o

(i) =T

(i) 281 Rrrefa

(iv) FYI-S5HS

Options:

(1), (11), (1ii), (iv)
91334340073,



(1), (11), (iv), (111)
91334240074,

(i), (1), (i), (1)
91334540075,

(1), (1), (i), (iv)
91234540076,

Question Number : 119 Question Id : 91394310199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

wefe il o O SES TSR IGe [T &% @H! Fef 47 |
PIAFRPOIC SR -

(i) 5o

(i) =T

(i) 281 Rrrefa

(iv) FYI-S5HS

Options:

(1), (11), (1ii), (iv)
91334340073,

(1), (11}, (1v), (1)
91334540074,

(1w}, (iid), (1), (1)
2912334540075,

(id), (iii), (1), (iv)
91334340076,

Question Number : 120 Question Id : 91394310200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et il 19 HOtETE SHEs FSiE (5169 #[1 ©F @R 5o 347
YW AP & TP G S -

(i) Early History of Kamrupa

(ii) Sankardeva and His Times

(iii) Cultural History of Assam

(iv) Evolution of Assamese Secript

Options:



(1), (11), (1ii), (iv)
91334240077,

(1), (111), (i), (iv)
91334540075,

(1w}, (iad), (1), (ii)
2912334540073,

(ii), (iv), (iii), (i)
91334340080,

Question Number : 120 Question Id : 91394310200 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

e ol 2T MR SRS T3, 6T [ @5 a0 F9E 341
SN R 57 TP QPP ST

(i) Early History of Kamrupa
(ii) Sankardeva and His Times
(iii) Cultural History of Assam

(iv) Evolution of Assamese Secript

Options:

(1), (11}, (1), (1v)
91334540077,

(1), (iid), (ii), (iv)
291234540075,

(iw), (1ii), (i), (ii)
91334340073,

(id), (iw), (iii), (1)
91334240050,

Sub-Section Number: 5
Sub-Section 1d: 913943512
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 91394310201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



©eTe ‘P BEe Ml RERe 751 SFofE I ‘Y B8 I e iR e
w5 e BEe #4 |

‘T B ‘9 B8
(@) =9 WE 0 e tead
(b) FAIFE IFQ! W) 9 o &
(©  JraugaE SOHR (i) JrgR SIGEEE &l
@ PR 741 (i) 33 S T
Options:
(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394240081,
(a)—(ii), (b)—(iv), (e)-(iii), (d)—(i)
291394240082,
(a)—(iv), (b)—(ii), (e)-(iii), (d)—(i)
91394340083
(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
91394340034,

Question Number : 121 Question 1d : 91394310201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tele ‘P e Myl REEg 71 SHF I Y B8 I e iR ee e
w5 a0 BEe #6 |

‘T BB ‘Y B8
(@) =rw w1E W el teTa
(b) Tz FF41 ) 399 S Tl
(©  JrgugaE OB (i) g SGEEE &l
(@) v 9 (iv) 7q SF 59
Options:
(a)—1), (b)—(ii), (e)—(iii), (d)—(iv)
912394240081,
(a)—(ii), (b)—(iv), (e)—(iii), (d)—(i)
91294340052,
(a)—(iv), (b)—(ii), (e)—(iii), (d)—(1)
9123942340083,
(a)—iv), (b)—(iii), (e)-(ii), (d)—i)
9123942340084,

Question Number : 122 Question Id : 91394310202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Oels ‘F B Ml R 75w o 49 Y e Y [ARpiE eE [Rese o[
w5 e BEe #47 |

‘T T “ B8
(a) s % G FY-gEEar
(b) aiqsﬁqﬁmqm (W) e
(¢) SoHmE (i) ATt
(d) FEEe! (iv) g 539
Options:

(a)—(i), (b)—{ii), (e)—(iv), (d)—(iii)
91334240085,

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91234240086,

(a)iv), (b)—(iii), (e)—i), (d)—(ii)
291234540087,

(a)—(iii), (b)—(iv), (e)—(il), (d)—(i)
91334240088,

Question Number : 122 Question Id : 91394310202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

©ee ‘P BEe Ml AR 751 SFE I Y B8 I e iR e s
w5 e BEe #47 |

‘T T “ B8
(a) wm T i) FY-FIga
(b) Wﬁqﬁmm (W) efee] ¥
(e) Somd (i) AT
(@ FrpEEs! (iv) ug 239
Options:

(a)—(i), (b)ii), (e)—(iv), (d)—(iii)
912394240085,

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
913324240036,

(a)—(iv), (b)—(iii), (e)—~(i), (d)—(ii)
91394340087,

(a)(iii), (b)—(iv), (e)(ii), (d)—(1)
91234240088,



Question Number : 123 Question Id : 91394310203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Oels ‘F B Ml R 75w o 49 Y e Y [ARpiE eE [Rese o[
w5 e BEe #47 |

‘T B ‘' B8
(a) #ree i fre
(b) "T’ETB (i) §E =
© B (iil) 5% SHTSIS!
(d) TwIm (iv)  sE=l
Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
913342400893,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234240030,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394340031,

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
913324240032,

Question Number : 123 Question Id : 91394310203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

©eTe ‘P BEe Ml RERe 751 SFofE I ‘Y B8 I e iR e
w5 e BEe #4 |

‘T B ‘9 B8
(a) sCeR M fijren
(b) 1 w7gh (i) B =
(e) ?5 (iil) B SIS
(d) piBr (iv) siea
Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91234240089,

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
915394240030,

(a)—(iv), (b)—(iii), (e)(ii), (d)—i)
913324240031,

(a)(iii), (b)—(iv), (e)-i), (d)—(ii)
91234240032,



Question Number : 124 Question Id : 91394310204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

©eTe ‘P BEe Ml RERe 751 SFofE I ‘Y B8 I e iR e
w5 e BEe #4 |

iqiaﬁ- I.JJQE-
(a) fyaqme veg 0 sIeP Wl
(b) wfEy 741 i) o7 e

(@ Rffege 3w (i) 7 A9 Aslq
() ffet 2ol FqRee (V) g sj@efig Y

Options:

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234240033,

(a)—(iii), (b)—(iv), (e)(ii), (d)—i)
9123345400354,

(a)—(iv), (b)—~(1), (e)—(iii), (d)—(ii)
91334240035,

(a)—ii), (b)—(iv), (e)—(i), (d)iii)
91234240036,

Question Number : 124 Question 1d : 91394310204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
(a)—(i), (b)—(ii), (e)-(iii), (d)—(iv)
9153942400595,

(a)(iii), (b)—(iv), (e)(il), (d)—(1)
91394340094,

(a)—(iv), (b)—(1), (e)-{iii), (d)—(ii)
91394340035,



(a)—ii), (b)—(iv), (e)—(i), (d)—iii)
91234240036,

Question Number : 125 Question Id : 91394310205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91594240037,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
913324240035,

(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394340093,

(a)—(iii), (b)—(iv), (e)(ii), (d)—(i)
91234240100,

Question Number : 125 Question Id : 91394310205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334240037,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91234240038,



(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394340093,

(a)(iii), (b)—(iv), (e)(ii), (d)—(1)
91234240100,

Question Number : 126 Question 1d : 91394310206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(a)—(i), (b)ii), (e)—(iii), (d)-iv)
91294240101,

(a)—(iv), (b)—(iii), (e)(ii), (d)—i)
913324240102,

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334240103,

(a)(iii), (b)—(iv), (e)(ii), (d)—(1)
91234240104,

Question Number : 126 Question 1d : 91394310206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(a)—(i), (b)ii), (e)—(iii), (d)-iv)
91294240101,



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394340102,

(a)—(ii), (b)—(i), (e)—(iv), (d)(iii)
91234240103,

(a)—(iii), (b)—(iv), (e)(ii), (d)—i)
91234540104,

Question Number : 127 Question Id : 91394310207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(i), (b)—{ii), (e)—(iii), (d)—(iv)
91334240105,

(a)—(ii), (b)—(i), (e)—(iii), (d)iv)
91234240106,

(a)—(i), (b)—(iv), (e)—(iii), (d)—(ii)
912334540107,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91334240108,

Question Number : 127 Question Id : 91394310207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(i), (b)—ii), (e)—(iii), (d)-iv)
91394240105,
(a)(i), (b)—(D), (e)ii), (d)—(iv)
91394240106,

(a)—i), (b)—(iv), (e)—(iii), (d)—(ii)
91334340107,

(a)—{iv), (b)—(iii), (e)—(id), (d)~(1)
91394340108.

Question Number : 128 Question Id : 91394310208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)iii), (b)—(iv), (e)ii), (d)—(i)
912394340109

(a)—(i), (b)—(iii), (e)—(iv), (d)—(ii)
91394340110.

(a)—{iv), (b)—(1), (e)—{ii), (d)—{iii)
91394340111,



(a)—ii), (b)—(iid), (e}—(iv), (d)~1)
91394340112,

Question Number : 128 Question Id : 91394310208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(iii), (b)—(iv), (e)(ii), (d)—i)
91234540109,

(a)—(1), (b)—(iii), (c)—{iv), (d)—(ii)
91334240110,

(a)iv), (b)—(1), (e)—{ii), (d)—(iii)
91394340111,

(a)—ii), (b)—(iii), (e)—{iv), (d)—~1)
91394340112,

Question Number : 129 Question Id : 91394310209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91234240113,

(a)—iil), (b)id), (e)-{iv), (d)—~1)
912394240114,



(a)(iv), (b)—(1), (e)—(iid), (d)—(ii)
91394340115,

(a)—i), (b)—iv), (e)-ii), (d)—i)
91234240116,

Question Number : 129 Question 1d : 91394310209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91334240113,

(a)—iii), (b)id), (e)—{iv), (d)—~1)
91234240114,

(a)(iv), (b)—(1), (e)-{iid), (d)—(ii)
913942340115,

(a)—i), (b)—(iv), (e)—(ii), (d)—i)
913324240116,

Question Number : 130 Question Id : 91394310210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394340117,



(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
91234240118,

(a)—iii), (b)id), (e)—{iv), (d)—~1)
91294240119,

(a)iv), (b)—(iii), (e)—i), (d)—(ii)
912334540120,

Question Number : 130 Question Id : 91394310210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394340117,

(a)—ii), (b)—(iii), (e)—(i), (d)—iv)
91234240118,

(a)—(iii), (b)—(ii), (e)~iv), (d)—(i)
91384540119,

(a)—(iv), (b)—(iii), (e)~(i), (d)—(ii)
91334240120,

Question Number : 131 Question Id : 91394310211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91334240121,



(a)(iv), (b)—(iii), (e)~(1), (d)—(ii)
91394340122,

(a)iv), (b)—(iii), (e)—(ii), (d)—(1)
91394340125,

(a)—(ii), (b)—(iii), (e)—(i), (d)—liv)
912334540124,

Question Number : 131 Question Id : 91394310211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(i), (b)—(ii), (e)—iii), (d)—(iv)
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(a)—(iv), (b)), (e)—i), (d)~(i)
Q1294240123
(a)—id), (b)—(iii), (e)~(i), (d)~(iv)
Q1294240124

Question Number : 132 Question Id : 91394310212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

(a)—(iv), (b)—(ii), (e)-(iii), (d)—(i)
91394340125,

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394340126,

(a)(i), (b)—(ii), (e)-{(iii), (d)-iv)
91594240127,

(a)—(ii), (h)—(iii), (e)—(iv), (d)—(i)
91394340128,

Question Number : 132 Question Id : 91394310212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

(a)—(iv), (b)—(ii), (e)-(iii), (d)—(i)
91394340125,

(a)—iii), (b)~iv), (e)i), (d)—(ii)
91394340126,

(a)(i), (b)—(ii), (e)-{(iii), (d)-iv)
91594240127,

(a)—(ii), (h)—(iii), (e)—(iv), (d)—(i)
91394340128,

Question Number : 133 Question Id : 91394310213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—ii), (b)—(iii), (e}—(i), (d)—iv)
91234240129,

(a)-(i), (b)—(iv), (e)-{ii), (d)—(iii)
91234240120,

(a)—ii), (b)—(i), (e)—(iv), (d)—(iii)
91234540121,

(a)—(1), (b)—(iv), (c)—(iii), (d)—(ii)
91334240132,

Question Number : 133 Question Id : 91394310213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—ii), (b)—(iii), (e)-(1), (d)-iv)
Q91294340129
(a)—(i), (h)—(iv), (e)—(ii), (d)—(iii)
Q13942401 30.
(a)—ii), (b)i), (e)—iv), (d)—(iii)
Q91594240121
(al—(i), (h)—(iv), (e)—(iii), (d)—(ii)
Q91294240152

Question Number : 134 Question 1d : 91394310214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(a)—(i), (b)—(id), (e)—(iii), (d)—(iv)
A13942401323.
(a)—(iv), (b)(iii), (e)—(ii), (d)~(1)
Q1594240154
(a)—(ii), (b)—(iii), (e)—(1), (d)—(iv)
Q912942340155
(a)—(iii), (h)—(iv), (e)(ii), (d)—(i)
Q13942401 36.

Question Number : 134 Question Id : 91394310214 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(i), (b)—(ii), (e)—(iii), (d)—(iv)
91394340133,



(a)(iv), (b)—(iii), (e)(il), (d)—(1)
91394340134,

(a)—ii), (b)—(iii), (e}—(i), (d)—{iv)
91234240135,

(a)—(iii), (b)—(iv), (e)(ii), (d)—i)
912334540136,

Question Number : 135 Question Id : 91394310215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

el ‘P B Ml R F51 SofF I Y B8e Y9 e s e e
w5 a0 BEe #41 |

‘aiﬂ E -‘.zJ'! @
(@) Gggq 341 U £ 2 S R
(b) wpiER PN LT (1) SpeeH TS
(© SR ARed siefe D Srerm
(@) wfEeE Sep (iv) rzHEH (St

Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91334240137,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234240128,

(a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
913942340139

(a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
913324240140,

Question Number : 135 Question Id : 91394310215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91234240137,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91234240128,

(a)—iv), (b)—(iii), (e)—ii), (d)—(i)
91234540129,

(a)—(iii), (b)—(iv), (e)~(i), (d)—(ii)
91334240140,

Question Number : 136 Question Id : 91394310216 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91294240141,

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
913324240142,

(a)—(i), (b)—ii), (e)—(iii), (d)—(iv)
91234240143,

(a)—iii), (b)(id), (e)—(i), (d)—{iv)
912324240144,

Question Number : 136 Question 1d : 91394310216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

(a)—(ii), (b)—(i), (e)—(iv), (d)—(iii)
91394540141,

(a)—(ii), (b)—(i), (e)—(iii), (d)~(iv)
91334240142,

(a)—(i), (b)—ii), (e)—(iii), (d)iv)
91294240143,

(a)-iii), (b)—(ii), (e)—(i), (d)—iv)
91594240144,

Question Number : 137 Question Id : 91394310217 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a)—(iii), (b)~(1), (e)-liv), (d)—(ii)
91294240145,

(a)—iv), (b)—(ii), (e)—(i), (d)—iii)
913942340146,

(a)—(i), (b)—{iv), (e)—(iii), (d)—(ii)
913384540147,

(a)—ii), (b)—(iii), (e}—(iv), (d)~(1)
913943401485,

Question Number : 137 Question Id : 91394310217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Question Id : 91394310221 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Cuesticon Label | Comprehension



©eTE AR A OIS A7 RS PATRY ©F G NPEY
WS AT W Glersst o/

FPEAICT ST 1 ‘TRl bt ST 499 ¢ weRfee T8
CHMBITDE. T CoifE B =T <11, 9 <1ReT e i Brm
T G ARICT | 0100 - (RS Al S-S Ehe
e FREGET HPIFT AT A 5T | ol
A SPT F FREEES T TR T 36 T
0T qety i oiffer AT | e ToEgy Wi FeiieE
TS #oCE T (AT ez, STt A G, TS
TR TS A5 S @RI A S | R e -
(SETIEF CIRAFR PSR I e Fb AE FH @6 |
G T 4991 TS SHF T AoPT Moo 9 THE
sl AP 9 oy Fives gem e wIT 9 |

<2 e REe TR’6F Tf T F'7 AR | 2360, AfFve &
1 < A Tl T I T e Ap-opie
ey Srefer Cafee, S e oy SReReer Fiael goE
e e 2 o ST SRl e wiritresE wifas
T, R SriRreei Sfee RS S 72 |
RS, Gt U A1 273 FARIN O TeT-T7 B-S5ie
Slars AT o' Ce1 R ol M Wil el 290 A |
CEFATERN FR-0/S RN G275 S BIe A9 -
P 2ol S -1 b2 SR, CRENE A
AlFe fETaAls 92 <A, ceied o afal s | aoEade
TR G20 I TR cos fee FRfE, oEe
QBT TG 5P T S FRGT — T BT A 3R
wifest | o feste o fafa-gafE aeie e,
SRIFEST Wi Foeee!, fofs *@rs o1, o
TRESN WF TR o6 — ey GEEE T
TS HE P91 Teq wIeel SNfene FgEE A5eT A BE
AR I A T2 | T (ST FReE G
CRERTS Ao 7 4R AR e T Sfowely gpata
TR RpiRte, — i sfeweR Forn fr Tl e
TR {RT (TR | 0l Q3068 FReN P9 ARTeT
ST | RIS SRS R SRR P FE 3R o w1
B |

CRAIR TACS! TR ST Q5 K PCTeE S
oo cilal2 e | (3@ 99 st o S sliegd
WWWWW |Q3Wmessag€¢
SFY A | AR T FI9 7w S IJF! I IEE
A o | g TS WHE (FIE TR T T | O
FRST ST 22T T AT I T W WF AT
@Al | Sl 1 PR ol 19 o e @l A [am,
15T TS W Ribar o R AT AL FR P |
Cﬂm‘ﬂﬁgmmwwﬂi(@aquei,wm\
BT bed Wy | e 9B R '3 @R @ g elregd
TG 9O ST, SHETTs a s 1w | e 12
o TSEE IR o @Fe = 3t s [ita et
A1 AEE | SFS PTG PR SITHES CreTET, a3y
G rf i TSR 2= F1 (afesT | IR A5 FIIe
P ST GRER SRE SR 3 | ferene e
OIS WIIFG EIRT T S -Swehey FeTY Soie FReR
aeffic e o 2feide tafs | Sy iegd Bieg
w{eTel ©F SlRa elfes fofs | 51 ©NiF @9e sign REict
o T, O3 022 I @IcT SToN &fs 235 FiE ¢ AR,
% R Sieg | ol Toe = feeies B 7o, 99
FAF P o TRFS | T TS dFHS SE-
OISO SIS T W ST -T3eT @, 9% 36 B
i | AREE 9] Tod ©F OIeG-CING BEr 7 7% |
=06 F'9, FRels T B 9w ol -orpiewi @Es
T | I SIS (B0 QD ST I HESS HE WE A,
g iote eoifie ‘Sia’ gl =i e B o =i 3@ |
SR W T2 S, e Wi AT B 5E (2 A |
TG 161 | 1R B HY G T2 (7 T ©E-Sped we
(I SR ST GICEINICE SIS S-S Ro o 77 |
FRON &7 HF TS T H7Tw AF, 55 57 |
TP STy SR SIS (1 CT M i
fafiea e SFAR Cae | FW & FEs o -fTos
G, wiw 9Bt daiesl S=ife cafal ol Al 1 S Piet,
T GTTS (Leger), 1iftow, =i Figll wiw o8 @ @iy =it
IR WRrE 9fs SFE R gs [ sieEng FeE-siaey
o TG JO T2 ? WG G0 (ST HEE AR olfs
AT ) TS R o1 SR ETie B A
A FH FEETFS 778 A wferrs S, o ‘T
Gl ol Sl SFISH et [{eiRT spie Josial Eie
T TN ETEI G5 4 | AT S TR’ o O
wf 9ER AW GRE |




Sub questions

Question Number : 141 Question Id : 91394310222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FRere 4FIfFe SR Sefeels e TPy All-c3e 5 @R aFee 3 o =1 2

Options:

ST TATegs IR GO SfPET S SROTIS 5j9 wfe [re 9wy fw |

91334540161,

| IR AT PO PH ACSH G THH FE |

215394240162

8 REesIed QP SIS Felq HY e 957 (A |
2153942401635,

g e e 58 7 e oY oS 757 |

91334540164,

Question Number : 142 Question 1d : 91394310223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e eoe PRIT SRS o9 39 I+ 1 OF R 2

Options:
Jfwsre i ffer-afer 20T 2m@sl, SRS oiqe Adeers!, o @
51 SIfACH SE 91 4141 AP BT &5 41 AE |
91394240165,
T ToH ©IR-BSfs SINE FRC 7' PR QRPN e Fgorest &1 ey 240
91334540166, T |
T (99 O] SNF FHe 0T NSq 599 1Y YT S 9% 747 PR
PRA A SIS AR |
912334540167,
NEd Sfo®eld @FoER el A, REE TIE ASF 498 @RIE | 9EEE =
91334240168, = m%:ﬁﬂ |

Question Number : 143 Question Id : 91394310224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GRIY, IR, AN GILET, TSHAIY 7741 S RS A Ao M @l
e qfns e [ ©3ET THiEy 2'4 2

Options:



PR 051 Yool 7oA Apd [ I SR-Siqgfo I e SNPmg o9
AIPFI-FAIPHICE #1659 GTTe 9 Jlaw 799 38 3F |

91334540169,

PR Afafee FoPRs, 11059 SHEY JE PR 29 B0 Gl 2°F AT |

2915334240170,

A foeRr A1 SR-Sefied Rew Sere FRer Al Ie wiF e fewt |

912334540171,

TSl GO SIS 499 @A A @I IR RS i 2 TN |

9133454017%2.

Question Number : 144 Question 1d : 91394310225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
PG SIICNE) B9 <91 el a6 1 Wi 79 @Eif 2

Options:

ATSFTeT Teleq ABTSIP ST I TR =feig Jroiar @i e 41

si56d5d01zs MY DINHSE 9% SFSTe SIS 7 |

ST AN ARTSANe Solod ST F SHYfAF BT GFNF WL I, |

91334540174,

AT Pipiel, @61 TS, o Qe s S i) i 41 Fifte |

91334540175,

Sy SHifRe) e Fi498 AR e 3R A APl AT FRIET |

912334540176,

Question Number : 145 Question Id : 91394310226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
iG] 57 Sy wpEvs w1 e 2

Options:

NP Sfe@ed 8o FReH s/ fFAoe®e |

291334540177,

PG SHIT J2T 1 |

91334540175,

FRM & EHF “ee OF SR NHE B[ 917, [ FRer ol +={ 97 |
912394240179,



e wdy [ftael o1+ Siee & §E 3 |

91234540180,

Question Id : 91394310221 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



©eTE AR A OIS A7 RS PATRY ©F G NPEY
WS AT W Glersst o/

FPEAICT ST 1 ‘TRl bt ST 499 ¢ weRfee T8
CHMBITDE. T CoifE B =T <11, 9 <1ReT e i Brm
T G ARICT | 0100 - (RS Al S-S Ehe
e FREGET HPIFT AT A 5T | ol
A SPT F FREEES T TR T 36 T
0T qety i oiffer AT | e ToEgy Wi FeiieE
TS #oCE T (AT ez, STt A G, TS
TR TS A5 S @RI A S | R e -
(SETIEF CIRAFR PSR I e Fb AE FH @6 |
G T 4991 TS SHF T AoPT Moo 9 THE
sl AP 9 oy Fives gem e wIT 9 |

<2 e REe TR’6F Tf T F'7 AR | 2360, AfFve &
1 < A Tl T I T e Ap-opie
ey Srefer Cafee, S e oy SReReer Fiael goE
e e 2 o ST SRl e wiritresE wifas
T, R SriRreei Sfee RS S 72 |
RS, Gt U A1 273 FARIN O TeT-T7 B-S5ie
Slars AT o' Ce1 R ol M Wil el 290 A |
CEFATERN FR-0/S RN G275 S BIe A9 -
P 2ol S -1 b2 SR, CRENE A
AlFe fETaAls 92 <A, ceied o afal s | aoEade
TR G20 I TR cos fee FRfE, oEe
QBT TG 5P T S FRGT — T BT A 3R
wifest | o feste o fafa-gafE aeie e,
SRIFEST Wi Foeee!, fofs *@rs o1, o
TRESN WF TR o6 — ey GEEE T
TS HE P91 Teq wIeel SNfene FgEE A5eT A BE
AR I A T2 | T (ST FReE G
CRERTS Ao 7 4R AR e T Sfowely gpata
TR RpiRte, — i sfeweR Forn fr Tl e
TR {RT (TR | 0l Q3068 FReN P9 ARTeT
ST | RIS SRS R SRR P FE 3R o w1
B |

CRAIR TACS! TR ST Q5 K PCTeE S
oo cilal2 e | (3@ 99 st o S sliegd
WWWWW |Q3Wmessag€¢
SFY A | AR T FI9 7w S IJF! I IEE
A o | g TS WHE (FIE TR T T | O
FRST ST 22T T AT I T W WF AT
@Al | Sl 1 PR ol 19 o e @l A [am,
15T TS W Ribar o R AT AL FR P |
Cﬂm‘ﬂﬁgmmwwﬂi(@aquei,wm\
BT bed Wy | e 9B R '3 @R @ g elregd
TG 9O ST, SHETTs a s 1w | e 12
o TSEE IR o @Fe = 3t s [ita et
A1 AEE | SFS PTG PR SITHES CreTET, a3y
G rf i TSR 2= F1 (afesT | IR A5 FIIe
P ST GRER SRE SR 3 | ferene e
OIS WIIFG EIRT T S -Swehey FeTY Soie FReR
aeffic e o 2feide tafs | Sy iegd Bieg
w{eTel ©F SlRa elfes fofs | 51 ©NiF @9e sign REict
o T, O3 022 I @IcT SToN &fs 235 FiE ¢ AR,
% R Sieg | ol Toe = feeies B 7o, 99
FAF P o TRFS | T TS dFHS SE-
OISO SIS T W ST -T3eT @, 9% 36 B
i | AREE 9] Tod ©F OIeG-CING BEr 7 7% |
=06 F'9, FRels T B 9w ol -orpiewi @Es
T | I SIS (B0 QD ST I HESS HE WE A,
g iote eoifie ‘Sia’ gl =i e B o =i 3@ |
SR W T2 S, e Wi AT B 5E (2 A |
TG 161 | 1R B HY G T2 (7 T ©E-Sped we
(I SR ST GICEINICE SIS S-S Ro o 77 |
FRON &7 HF TS T H7Tw AF, 55 57 |
TP STy SR SIS (1 CT M i
fafiea e SFAR Cae | FW & FEs o -fTos
G, wiw 9Bt daiesl S=ife cafal ol Al 1 S Piet,
T GTTS (Leger), 1iftow, =i Figll wiw o8 @ @iy =it
IR WRrE 9fs SFE R gs [ sieEng FeE-siaey
o TG JO T2 ? WG G0 (ST HEE AR olfs
AT ) TS R o1 SR ETie B A
A FH FEETFS 778 A wferrs S, o ‘T
Gl ol Sl SFISH et [{eiRT spie Josial Eie
T TN ETEI G5 4 | AT S TR’ o O
wf 9ER AW GRE |




Sub questions

Question Number : 141 Question Id : 91394310222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
FRere 4FIfFe SR Sefeels e TPy All-c3e 5 @R aFee 3 o =1 2

Options:

ST TATegs IR GO SfPET S SROTIS 5j9 wfe [re 9wy fw |

91334540161,

| IR AT PO PH ACSH G THH FE |

215394240162

8 REesIed QP SIS Felq HY e 957 (A |
2153942401635,

g e e 58 7 e oY oS 757 |

91334540164,

Question Number : 142 Question 1d : 91394310223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e eoe PRIT SRS o9 39 I+ 1 OF R 2

Options:
Jfwsre i ffer-afer 20T 2m@sl, SRS oiqe Adeers!, o @
51 SIfACH SE 91 4141 AP BT &5 41 AE |
91394240165,
T ToH ©IR-BSfs SINE FRC 7' PR QRPN e Fgorest &1 ey 240
91334540166, T |
T (99 O] SNF FHe 0T NSq 599 1Y YT S 9% 747 PR
PRA A SIS AR |
912334540167,
NEd Sfo®eld @FoER el A, REE TIE ASF 498 @RIE | 9EEE =
91334240168, = m%:ﬁﬂ |

Question Number : 143 Question Id : 91394310224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

GRIY, IR, AN GILET, TSHAIY 7741 S RS A Ao M @l
e qfns e [ ©3ET THiEy 2'4 2

Options:



PR 051 Yool 7oA Apd [ I SR-Siqgfo I e SNPmg o9
AIPFI-FAIPHICE #1659 GTTe 9 Jlaw 799 38 3F |

91334540169,

PR Afafee FoPRs, 11059 SHEY JE PR 29 B0 Gl 2°F AT |

2915334240170,

A foeRr A1 SR-Sefied Rew Sere FRer Al Ie wiF e fewt |

912334540171,

TSl GO SIS 499 @A A @I IR RS i 2 TN |

9133454017%2.

Question Number : 144 Question 1d : 91394310225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
PG SIICNE) B9 <91 el a6 1 Wi 79 @Eif 2

Options:

ATSFTeT Teleq ABTSIP ST I TR =feig Jroiar @i e 41

si56d5d01zs MY DINHSE 9% SFSTe SIS 7 |

ST AN ARTSANe Solod ST F SHYfAF BT GFNF WL I, |

91334540174,

AT Pipiel, @61 TS, o Qe s S i) i 41 Fifte |

91334540175,

Sy SHifRe) e Fi498 AR e 3R A APl AT FRIET |

912334540176,

Question Number : 145 Question Id : 91394310226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
iG] 57 Sy wpEvs w1 e 2

Options:

NP Sfe@ed 8o FReH s/ fFAoe®e |

291334540177,

PG SHIT J2T 1 |

91334540175,

FRM & EHF “ee OF SR NHE B[ 917, [ FRer ol +={ 97 |
912394240179,



e wdy [ftael o1+ Siee & §E 3 |

91234540180,

Sub-Section Number: 7
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Question Id : 91394310227 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
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Question Numbers: (146 to 150)
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